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using Microsoft.VisualStudio.TestTools.UnitTesting;
using TestCommon;

namespace All.Tests

{
[DeploymentItem("TestData")]
[TestClass ()]
public class GradedTests
{
[TestMethod (), Timeout (2000)]
public void SolveTest_Q1BinaryTreeTraversals()
{
RunTest (new Q1BinaryTreeTraversals("TD1"));
}
[TestMethod (), Timeout(1500)]
public void SolveTest_Q2IsItBST()
{
RunTest (new Q2IsItBST("TD2"));
}
[TestMethod (), Timeout (1500)]
public void SolveTest_Q3IsItBSTHard()
{
RunTest (new Q3IsItBSTHard("TD3"));
}
[TestMethod (), Timeout(10000)] // change to 6000 if you could solve it
public void SolveTest_Q4SetWithRangeSums ()
{
RunTest (new Q4SetWithRangeSums("TD4"));
}
[TestMethod (), Timeout(6000)]
public void SolveTest_Q5Rope ()
{
RunTest (new Q5Rope("TD5"));
}
public static void RunTest(Processor p)
{
TestTools.RunLocalTest("A11", p.Process, p.TestDataName, p.Verifier,
VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);
}
}
}
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using System;
using TestCommon;

namespace Al1l

{
public class QlBinaryTreeTraversals : Processor
{
public Q1BinaryTreeTraversals(string testDataName): base(testDataName){ }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][], long[][I>)Solve);
public long[][] Solve(long[][] nodes)
{
throw new NotImplementedException();
}
3
}
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using System;
using TestCommon;

namespace Al1l

{
public class Q2IsItBST : Processor
{
public Q2IsItBST(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][], bool>)Solve);
public bool Solve(longl[][] nodes)
{
throw new NotImplementedException();
}
}
}
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using System;
using TestCommon;

namespace Al1l

{
public class Q3IsItBSTHard : Processor
{
public Q3IsItBSTHard(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[][], bool>)Solve);
public bool Solve(long[][] nodes)
{
throw new NotImplementedException();
}
3
}
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“+ 1” means add((i + x) mod M)
“-1” means del((i + x) mod M)
“? 1” means find((i + x) mod M)
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using System;

using TestCommon;

namespace Al1l

{

public class Q4SetWithRangeSums : Processor

{
public
{

Q4SetWithRangeSums (string testDataName) : base(testDataName)

CommandDict = new Dictionary<char, Func<string, string>>()

3

public

{
["+'] = Add,
['-'] = Del,
['7'] = Find,
['s'] = Sum
};

override string Process(string inStr) =>

TestTools.Process(inStr, (Func<stringl[], string[]>)Solve);

public
public
public

public
{

readonly Dictionary<char, Func<string, string>> CommandDict;
const long M = 1_000_000_001;
long X = 0;

string[] Solve(string[] lines)

throw new NotImplementedException();

}

private long Convert(long i)

=>

i=(G+X)%M;



L > < v D v -t < —

Rope 0

AS 0,5 m)&ixl,s@if.x,;f@u o5lu |, rope osls Ll U Ll Jlgw ¢pl 55
S8 ) 516K sl o |, 0f 5 385 iy S hse yeb a |, (W, 5) ad, ol Sl i
34

o 2 J a4 B as gl as il S¥lgw L 5l 5 e ol ad jloy )l Jlgw S
g )1 s 5395 4758 ey et o

oyl ads, ol 9, » |, query B n sl Led g s0lesls Lk a5 | s acs, a8 08”58
258 Sl pl Glan s 9 kg j i 29h (0 Lo puous dac dw b query o oS
zoo 05be Bl as, 5 O, el K51 G |, OF Gugww 9 3005 b S 4 51 s j] &,
Dgd o 0303 18 anh, slaol jo i, 5 bl Lol kST 08

S Ly 59, » 0L aS Sla query i b n s 95,0 )18 5 6 al, (39,9 Jgl s s
o b 0315 o Wb s a5 59l e chuogs sae A b query ya )0y 18 el plool s
Al Ol (29,5 50 1) A WL ¢.x~i,fal.7a|ssm)ég)xuqueryrudwljl

Ale s axdloe Jol ciwg STy J2bs 5l dlgw (29,5 9.639,9 sla s dged Lada]

using System;
using TestCommon;

namespace Al1l

{
public class Q5Rope : Processor
{
public Q5Rope(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<string, long[][], string>)Solve);
public string Solve(string text, long[][] queries)
{
throw new NotImplementedException();
}
}
}
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